3 6.1

4

L )X R X 4

*
L/



0

L)

4

* 0



(Merchant's Rule)



: 1000 ’ 9% .
1085 » . ?

K, ’

1000(1+ 2" 9%) =1085(1+ 9%) + K

1180=1182.65+ K
K=-2.65

( ) ( )!



: ’ 1090
1085 o

?

< 1795 Virginla Rossv Pleasants

(United States Rule)

1839 5 «“ g
(United States Rule),



1)

2)



1000- (1085- 1000° 9%) =5

5(1+9%) =5.45

(i?



1000 10%, 12 o

200 300
1)
2)
3) o
1)
3 1

1000(1+10%) - 200(1+-* 10%) - 300(L+ " 10%) =575



2)

175

1000 X (1/4) X 10% = 25.00
200 25

>

1000 - 175 =825

825 X (5/12)x10% = 34.38
300 34.38
265.62 :
825 - 265.62 = 559.38



3)

559.38 [ 1+ (1/3)x10% ] =578.03

1000” 1.1- 200° 1.4 - 300" 1.1% = 575.50

6 —10



(Consumer Credit Protection Act)
(Truth in Lending Act)

1968 &€ »

(APR)

6 —11



1)

2)

),

(finance charge) ——

(annual percentagerate/ APR) ——

6 —12



< APR

(actuarial method)

APR (
),

“APR=12%",

>

6 —13



: (open-end credit)
(closed-end credit)

» APR o

6 —14



[

1.75%

>

APR

« APR

APR

“APR=21% "

6 —15



1) K =nR—L ,

2) I =mj, ]

=2 APR

APR

6 —16



1 ’ 860

K =12" 860- 10,000 = 320

j :
860a_ =10,000 a, =11.6279

12 | ]

j»0488% b APR»5.856%

6 —17



5.856% » 320
10000 3.2%,

3.2% ,

6 —18



(10320) ,

1) ;

2) ,
3.2% 3.2% -

6 —19



a- =1L
n nij
K: N 1
L a-
njj
1 1 n+1
»
a_ n 2n

6 —20



3.2%,

| »

2m K

n+1L

6 —21



20

A—APR &%
B—APR 10%,

O

1)
A,

200,000 _ 200,000 _
a ., 221105

24| =2
12

RA

8%

6 —22



B,

R® =
- 21.6709
,  E
B.
2)
21) APR A 8%,

10% > A o

- QO
_ 200,000(1- 8%) _ 184,000 _ g,

A,

6 —23



2.2) : A,
K, =24" R*- 200,000 = 17092
8.55%

B,
K, =24" R® - 184,000 =19776
10.75%
A B o

6 —24



7

15—30

Lo



€

7 (settlement date) . (
)

({4

6 —26



Corigination fee),
1% .

2000 o

(14

6 —27

»



stamps)

APR

>

™

(appraisal )

APR

(14 »

(tax

6 —28



APR

m =12 ( )
n =
L =
.
= APR
L* =

- L =L-Q, L

6 —29



6 —30



Ra_ =L~

APR
| =12 ]
< APR '
ol
N a- =1L

6 —31



’ 20% ,
30 ,
8.1% 800

APR [/ 12 ,

500,000" 20% =100,000

L =500,000- 100,000 = 400,000

6 —32



C )
20 .. ,
(=—)" 0.081" 400,000 =1775.34
365

i¢=0.081 P j¢=0.675%

3 1 ( )
D 400,000 _ 400,000
a 1.00675" 134.9987

360 | .00675

R = 2043.12

APR

6 —33



Q=1.5%" 400,000 +%' 800 = 6400

L = 400,000- 6400 = 393,600

K =360" 2,943.12 - 393,600 = 665,923.20
, APR

2943.12a

360 | |

= 393,600

j»069% b APR=8.28%

6 —34



< APR=8.28% 8.1%

6 —35



p ” (adjustable
rate mortgage, ARM ) “
7 (fixed rate mortgage) :

6 —36



30

ARM

ARM ,

15

6 —37



ARM

6 —38



. 65,000 30
o 8% ,
10% , 0

>

65,000 65,000

. 0
Y0108, (1+ ig)) " 136.2835

=4/3.7/88

a__
473.788—° %12 = 565,053
Faia 190

6 —39



a— 08
¥1%% _11=91.27
473.788[— ]

348 19/,
1% 1 -19.3%
Uz 19/,



APR

APR
K+L APR
a. =L | =——
n "Ml m
L , K
K+L
1
< APR Excd

APR

—41



m ’ APR | ,

m
L
B - 2 B — L,
Vi m i

[

M =0 i
. K

APR .



APR



1)

(maximum yield method)

’

r mMax



0 i
1 [ K+L K+L K+L
m n n n

+ + +
2 | K+L K +L oKL

m n n n

n-1 K+L KL [ KL
m n n
n | K+L K+L 0
m n n

LK C




% K + L

é‘B%n:Ln [ 1[1+2+--

_ [K+L][n(n 1)]

ZE[L(n-l_l) - K(n— 1)]

2mK
L(n+1)- K(n-1)

imax_

-+(n-1)]



( ),

I . & K+L e
L[1+En]—a [1+E(n )]

t=1

i—[nL- r];:L(K +1)]=K
m 2

mK 2mK

LEE O T (n+1)L- (n- DK
2



K>

K+L

),



0
1 K+L K+L K+L
m

+ + +

3 K+L K+L L-2K L
m

n- 2| K+L K+L L-(n-2)K+L
m
n-1| K+L K+L| . K+L
m
n K+L K+L
m




( )

n-1
(o)

B, =L(- D= [F][1+ 2+ +(n- 2]

=0
= L(n-1)- [K:L][(n- 1)2(n- 2)]
_ 1[L(n+2)(n- 1) K(n- 2)(n- 1)]
2 n n
- 2ZmK

T (-1 (n-2)(n-9)
n n

6 —50
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2)

(minimum yield method)

>

*min

6 —52



0 L
1 K+L K+L K+L
— - Kjn-1
m n n
2 K+L K+L K+L
— N —2)
m n n n
K+L K+L K+L
n-1 n n n
m
n | K+L K+L 0
m n n
L+ K L

6 —53




-1

) +
3 B =[&][1+2+---+n]— K
n

:[K +L][n(n+1)
n 2

= _[L(n+D+K(n- ]

]- K

B 2mK
L(n+D)+K(n- 1)

* min

6 —5H4
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3)

(constant ratio method)

Cr

6 —56



] -1
— 2]
;|__ | & 1|ﬂno
- c
|l |a| o] e

|, || e i
X | S "

N

_ _ _ _
+ |+ | C + | |+ n+
N X - [N N —
1_m2_mm1_7mn_m

57

6



6 —58



4)

78,
12/78,

(direct ratio method)

dr

11/78, ...

1/78

12

6 —59



S:

S=1+2+ -

/8

i r(r+1)

(Rule of 78)

2



0 L

n
1| K+L K(s_) K+L-K£ (n-1)K+L—Kh
m n h n S, n S,

+ - —
2 | K+L Kn 1K+L_Kn 1(n-2)K+L-Kﬁ
m n S, n S, n S,
n-1 K+L KE K+L_K3 K+L_Ki
m n S, n S, n S,
n | K+L

Kt | FrE gl 0
m n S, n S,
L+ K K L



Bl K+L

45, = S,
[K + L][n(n+1)] K[n+2]
:E[L(n+1)+§K(n- 1)
. dr 2mK

L(n+1)+:1))K(n- 1)

][1+2+...+n]_ K[i+...+

Sh 1

+1]



1,
1:

T 0020'1123-332200' g 007
2.
jmn ‘g =5.752%

~10.000” 13+320" 11

860



3:

o =2 12 320 5 9080
10,000 13
4:
2" 12" 320
e = 0
| 11 5.855%

10,000" 13+320° 3

APR » 5.856%,

MM <" <] =5.85600<|" <im™™



(unear ned finance charge)

, (1) , (2) 78



(1)
8608._ 54, =5073.09

|12

6 X860 = 5160

5160- 5073.09 =86.91

APR=5.85% -

O



(2) s=21, s, =78, 320 ,

e 320=286.15
/8

12+11+---+7
78

"~ 320=233.85







(mortgage
backed securities /| MBS)

’
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‘0

X (mortgage pass- through)

X (collateralized mortgage
obligation / CM O)
4 (stripped mortgage-backed

Securities)

6 —71



MBS

10 ;
100 o 40 (
), 2 S ,
2.5% o

(Pass-through)

6 —72



10



100

>

6 —74



‘0

24 |O
(Interest-Only Bond>

oo PO ( Principal-Only
Bond)

6 —75



1) t (1EtEnN)
B—— t

6 —/6



Bi.1 = Ry,

2) PR t

Vo N

PRt:Bt' Bt

6 —77



1- Q—
7 Q,=1

B =

A\

B, = 90,000,
90,000
Q=

99 000

99,000

=90.9%

’

6 —/8



, 90.9% ,
9.1% o

> B £B, QE£1

4) (single monthly mortality rate)

S|V||\/|t — Qt-l' Qt =1- Qt

Q.; Q.4
, B, t
> 0<SMM, <1

6 —79



n=m,

= Q

O (1' S\/||\/|t) =—"

t=m+1 Qm
5) CPR (Conditional Prepayment
Rate)

A
1-CPR =0 (@- MM,,,), t=113,-

j=1

: SVIM (CPR)



PSA (Public Securities Association)

’

2 (o]

PSA “ (100% ) PSA

»

L% t£30
CPR = mln(15)>6%—130 ’

1 6% t>30

SMM, =1- (1- CPR)®



30 ( )

PSA CPR 100% PSA
o ,» 0% PSA CPR
100% PSA CPR »  150% PSA
CPR 100%PSA CPR 15 o

O

1 PSA , 2
50% , 3 50%



0.1

B 0.08
0. 06

0,04

SE-4T A 4 A -

0. 02

0

PSARE A {2 £ 28 A

— =+ -

—
—

L R B T R R B T s I e
™ = — NN ] )

LA




CPR (SMM,)

1- CPR = (1_ SVIM )12

1

SVIM =1- (1- CPR)®

n3 1,

Q,=Q,1- SMM)" =(1- SMM)" =(1- CPR)%



CPR (SVIM,)

. R——
R R——
(
] (
t=0 |,
B =B =L



R =2,

a

|

R=R-1

PR =(1- Q)B,
=(1- (1- SMM))B,
= SVIM * B,

o

R =R +PR



B =(1+]) B,- R=B,-R=B,- R- PR
I (1£t£n)3 ét-l »

B -
R[:atl ’ It_J Bt-l’

PR =(1- Q)B =(1- (1- SUM))B,

o

R:R+PR



t

0.75%,

30

9%,
(SMM,)

—30

0.5%



0

5,000,000

65217.

48

24986.

34

40231.

13

2731.

13

37500.

00

4,972,283

64877 .

70

24847 .

(2

40029.

98

217317 .

86

37292.

12

4,944,697

64539.

59

24709.

76

39829.

83

2744

.60

37085.

23

4,917,243

64203.

13

24572.

46

39630.

68

27351

36

36879.

32

4,889,919

63868.

33

24435

80

39432.

52

2758

13

36674.

39

4,862,725

63535.

16

24299

.80

39235.

36

2764.

92

36470.

44

4,835,660

63203.

63

24164 .

44

39039.

18

2771

/3

36267 .

45

4,808,724

62873.

/1

24029.

/3

38843.

99

27178.

o6

36065.

43

4,781,916

O |0 N[O (OT|R~IWIN|F-|O

62545.

42

23895.

65

38649.

[l

2185.

40

35864.

37

4,755,235

—
o

62218.

/3

23762.

21

38456.

52

2792.

26

35664.

26

4,728,680

[HEN
RN

61893.

64

23629

.40

38264.

24

2799.

14

35465.

10

4,702,252

—
N

61570.

14

23497 .

23

38072.

91

2806.

03

35266.

89

4,675,948

—
w

61248.

23

23365.

68

37882.

25

2812.

94

35069.

61

4,649,770

—
N

60927.

89

23234.

75

37693.

14

2819.

87

34873.

27

4,623,715

6 —389




15 160609.11)23104.44] 37504.67| 2826.81|3467/7.86/4,597,784
16 160291.90]22974.75 37317.15 2833.77)34483.38/4,571,975
17 159976.24)22845.67] 37130.56| 2840.75|34289.82| 4,546,289
18 159662.12)22717.21] 36944.91) 2847.74/34097.17/ 4,520,724
19  159349.53| 22589.35 36760.19| 2854.76|33905.43| 4,495,280
20 [59038.47)22462.09 36576.38] 2861.79 33714.60| 4,469,956
21 [ 58728.94| 22335.44] 36393.50] 2868.83| 33524.67| 4,444,752
22 |58420.91) 22209.38] 36211.54| 2875.90| 33335.64| 4,419,666
23 [58114.39 22083.92] 36030.48] 2882.98] 33147.5/4,394,7/00
24 | 57809.37)21959.05 35850.33] 2890.08| 32960.25| 4,369,850
25 |57505.84/21834.77] 35671.07| 2897.20]327/3.88/ 4,345,118
26 [57203.79 21711.07] 35492.72| 2904.33| 32588.39 4,320,503
27 [56903.21)21587.96] 35315.25] 2911.48|32403.77| 4,296,004
28 | 56604.10 21465.42] 35138.68] 2918.65|32220.03/ 4,271,620
29 | 56306.4521343.47] 34962.98] 2925.84|32037.15/ 4,247,350
30 [56010.26{21222.09 34788.17] 2933.04|31855.13| 4,223,195

6 —90




30

—15

30

15

6 —91



0 0 0 0 0 0/ 5,000,000
1 75647.26| 13213.33| 24933.93/37500.00, 50713.334,961,853
2 715202.80[ 13245.87| 24743.03/37213.90, 50459.76|4,923,864
3 74760.39 13278.48 24552.93/36928.98] 50207.46|4,886,032
4 74320.03 13311.18| 24363.61| 36645.24] 49956.43| 4,848,358
3 7/3881.71] 13343.96 24175.07/36362.68 49706.64| 4,810,839
6 13445_.42| 13376.82| 23987.31 36081.29 49458.114,773,474
/ 73011.14] 13409.76| 23800.32 35801.06] 49210.82 4,736,264
8 (2578.87| 13442.78| 23614.111 35521.98] 48964.7714,699,207
9 72148 .60 13475.89 23428.66(35244.06] 48719.94)4,662,303
10 |71720.31) 13509.07] 23243.97|34967.27| 48476.34{4,625,550
11 | 71294.00] 13542.34] 23060.04] 34691.62 48233.96(4,588,948
12 | 70869.65 13575.68| 22876.86{34417.11f 47992.79 4,552,495
13 | 70447.26| 13609.11 22694.43|34143.71f 47752.83/4,516,191
14 | 70026.81| 13642.63| 22512.74/33871.44) 47514.06|4,480,036
15 |69608.29 13676.22 22331.80| 33600.27| 47276.49 4,444,028

6 —92




16 169191.701 13709.90] 22151.59 33330.21] 47040.11 4,408,167
17 | 68777.02 13743.66/ 21972.11) 33061.25 46804.91 4,372,451
18 | 68364.25 13777.5] 21793.37/32793.38 465/7/0.89 4,336,880
19 ]67953.37 13811.43 21615.34 32526.60, 46338.03 4,301,453
20 | 67544.38 13845.44 21438.0432260.90, 46106.34] 4,266,170
21 | 67137.26/ 13879.54 21261.4531996.27] 45875.81 4,231,029
22 |66732.00] 13913.71 21085.57/31732.72] 45646.43/ 4,196,029
23 | 66328.60] 13947.98 20910.4131470.220 45418.20{4,161,171
24 | 65927.05 13982.32 20735.94)31208.78 45191.11{4,126,453
25 | 65527.33 14016.76] 20562.18130948.40, 44965.15/4,091,874
26 |65129.44 14051.27| 20389.11 30689.05 44740.33 4,057,433
27 | 64733.36 14085.87] 20216.74/30430.75 44516.62/ 4,023,131
28 | 64339.09 14120.56 20045.0530173.48 44294.04] 3,988,965
29 |63946.62 14155.33 19874.05/29917.24 44072.57 3,954,936
30 | 63555.94 14190.19 19703.73/29662.020 43852.21f3,921,042




30



S 6.2

(S

6 —95



B t
(t=0, 1,2, ..., n)
D t-1 t
i
B,=
D=B ,—B
t
B, = A_é. D, =S +a D,
r=1 r=t+1
Bn =S

(t=1, 2, ...,

1

6 —96



A<S

(11

»

»

(14

»

6 —97



1)

98

6

|}

2)
A—S
R



Ra_ +9/"
N ——ull , v =1+ )

i:j, .
A =Ra_ .+ Sv', v = (1+i)"

>~ A=P, R=Fr, S=C,

L

t (LEtEN)

6 —99



B :A——st”:S + aFIJ
| a—
n ] nlj
t (1EtEN)
= t — t-1

A- S A-S. .
D =[—— s, —8¢)= 1@+ )7
Sn_lj Sn_lj

(?

6 —100



(straight line method )

A—S
; t (LEtEnN)
Dt:A- S
n
{ ’ t
(1Et£E£n)
B= A— A St :[1—£]A+£S
N n n

(i?

6 —101



(declining balance method )

d , t (LELtEN)
D,=d XB,_,

t (LEtEnN)
B=(1—d)B_= (1- d)'A

D,=d (1- d)*A

6 —102



d
A, S (>0), n ,
B =(1-d)"A=S

1

d=1- ©

d % (125% -
150% 200% ),

K
dq::H, k:125,15, 2,

6 —103



K

6

S,

—104



(sum of theyears digits method)

>

(
) o
“78 7, S =1+2+.--+r
(r31) , t (LEtEnN)
D, =" Stn+1](A—s)
t (LEtE£n)

B, =S+ e (A=S)
Sn
6 —105



D = —X(A—S
L= g X(ATS)
n-1
D, = —=X(A—S
, = g X(ATS)
1
D = —X(A—S

6 —106



*

L)

0

*

L)

6

—107



§

5

)

180,000
o O

>

(14

»

6 —108



¢ )

100,000

90,000

120,00

80,000

76,000

466,000

33% ,

6 —109



1)

=( — )/
—(180,000—10,000) / 5
—=34,000 ( )

—100,000—34,000=66,000 ( )
—66,000X33%=21,780( )

—90,000-34,000=56,000( )
—56,000 X 33%=18,480( )

6 —110



—120,000-34,000=86,000( )
—86,000 X 33%=28,380( )

—80,000-34,000=46,000( )
—46,000 X33%=15,180( )

=76,000-34,000=42,000( )
—=42,000X33%=13,860( )

—21,780+18,480+28,380+15,180+13, 860
—97,680( )

6 —111



2)

=2 X1/5X100% =40%

—180,000 X40% =72,000( )
—10,000-72,000=28,000( )
—28,000X33%=9,240( )

6 —112



—(180,000-72,000) X 40%

—43,200( )
—90,000-43,200=46,800( )

—46,800X 33%=15,444( )

—(180,000-72,000-43,200) X 40%

—=25,920( )
—120,000-25,920=94,080( )

—94,080 X 33%=31,046.4( )

6 —113



™

= (180,000-72,000-43,200-25,920-10,000) /2
=14, 440( )

—80,000-14,440=65,560( )
—65,560X33%=21,634.8( )

—76,000-14,440=61,560( )
—61,560X33%=20,314.8( )

—9,240+15,444+31,046.4+21,634.8+20,314.8
—97,680( )

6 —114



X( — )

, 142434445215
—5/15X (180,000-10,000)
—56,666( )

—100,000—56,666 =43,334( )

—43,334X33%=14,300.2( )

=4/15X(180,000-10,000)
=45,333( )

6 —115



—=90,000—45,334=44,667( )
—44,667 X 33%=14,740.1( )

—3/15 X (180,000-10,000)
—34,000( )

—120,000—34,000=86,000( )
—86,000 X 33%=28,380( )
—2/15 X (180,000-10,000)
—22,666( )

—=80,000—22,666=57,334( )
—=57,334X33%=18,920.2( )

6 —116



—=1/15X (180,000-10,000)
=11,333( )
=76,000—11,334=64,667( )
—=64,667 X33%=21,340.1( )

14,300.2+14,739.6+28,380+18,920+21, 340
—=97680( )

= | = 5%

6 —117



21,780
18,480
28,380
15,180
13,860
97,680
85,369

9,240
15,444
31,046.4
21,634.8
20,314.8
97,680
83,343

14,300.2
14,740.1

28,380
18,920.2
21,340.1
97,680.6

83,791

6 —118



1) j=0.05
2)
3) ( d d'=25=04

4)
: A=10,000 S=1,000 n=5
A- S_ 10,000- 1,000

SrT| j %| 05

1) = 1628.775

)

6 —119



A- S
n

= 1800

2)

3) d =1—(0.1)5 =1-0.631=0.369
4) S =15
S 9,000

< 3!
1296x0.4=518.40 ¢ )
296
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1 2 3 3 4
D| B|D|B|D |B|D|B|D|B
0) 10,000 10,000 10,000 10,000 10,000
1 (1,629 8,371 1,800 8,200 3,690| 6,310, 4,000| 6,000 3,000| 7,000
2 |1,710| 6,661 1,800 6,400 2,328 | 3,982 2,400 3,600 2,400 | 4,600
3 11,796| 4,865 1,800 4,600 1,4/0| 2,512 1,440( 2,160, 1,800| 2,800
4 11,886| 2,979 1,800 2,800 927 1,585 864 1,296 1,200| 1,600
5 |1,979| 1,000 1,800/ 1,000 585 1,000 296 1,000 600 1,000

6
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% 6.3

(capitalized cost )

(periodiccharge) ——
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5000

2000

5% ;

B

2500
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2
N |] — N |]
U, U,
|:j,
'Ai _ Sl +M1 'A\Z B % +M2
Gl S _ % S
Ul UZ
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100000 2000 o500 % 15000

A5, S5 _ %

1 3

A =12.4622{3[100,000" 0.070952
- 2,000” 0.020952 + 2500] - 5,000}
= 294,854

B ’
A 3 o
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Note: A
100,000 | 2500 25 2000 | 1
294.854 | 5000 20 0 3
B ,

20%
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10 14
’ 4%0 y

A=10; 5=5=0; M,=M,; n =14, nz22

U=U,;: |4
A =10+X,
10 10+ X

alT| 04 az_2| .04
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a_
X =10[—=* - 1] =3.68

14 | .04

36.8%

6 —129



S 6.4

(short sale)
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10

200

1000 (1+i) = 800
| =-20%,

800 (1+i) = 1000

100

100
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i:25%-,- ’

. 800 ’ ’

(deposit),

O

(margin)
, 50%
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4

L 4

4

L 4

50%
(1) :
500 , ,» 200 500
, 40%
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(2) o 8%)

200 + 500%8% =240 ( )
48%

(3) ,
o 60
240 — 60=180 C )
36%
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(derivatives)

(underlying assets)
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> > >
(Swap)——

(forward)——-

(futures)—— e

(option)——
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(exerciseprice)

(i?

&€

({4

7 (striking price)

6
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(call option) ——

(put option) ——
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(European option) ——

(American option) ——
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1)

(14

50

10% ),
100% ).

” (leverage).

45

55 (
10
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2)

10

6 —141



—11
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Ccurrent price),

S , S
T :
(exerciseprice/ striking price), X
; T o
C , P )
T
(pay-off) max(0,S; - X) max(0, X - S;)
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C=V"E
P=Vv'E

max(0,S, - X),

max(0,X - S,),
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. 200
1000 1000 o

1)
2) APR.
1) | :

(1+i)°- 5(1+i)+5=0pP i=2.618 0.38197
2) APR
L =1000, K =200+1000- 1000 =200
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K+L

=1000

N 2|APR =L b 600a2|APR
P APR
K+L
B = L 12008, =1000,
: APR=20%

),
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1) 20
2)

4

3

1,000,000

20
9% O

(1+ 9%) *° =178,430.89
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1)

1,000,000- 1/8,430.89 = 821,569.11

( ):

_821,569.11 _ 41078.46

( ):

t = X 9%
= 178,430.89" (1.09)"*" 0.09
: 16,058.78 ~ 82,568.81
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2)  t
41078.46 =178,430.89" (1.09)"*" 0.09

(L09)"! = 2.558

t =11.8989

11

178,430.89" (1.09)° " 0.09- 41078.46 = - 3061.49

12

178,430.89" (1.09)" " 0.09- 41078.46 = 360.04
12 o
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500

(14

O

15%,

G

15 1000 , 3 1

3 / 15

({4 »

» 8

250

15
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: 1)

1

31

2

28

3

31

A

30

1006.57

1018.15

1285.64

1049.95

5

31

6

30

.

31

8

15

811.69

5/70.16

325.78

327.179

15
31
28

] =15%/365 = 0.000410958

;1000
. 1000" (1+16) =1006.575342

. 1006.575342" (1+28j) =1018.157853

7
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3 31 :

1018.157853" (1+31j)+500" (1+30j)- 250" (1+16])
=1285.649433

4 30 :

1285.649433" (1+30j)- 250" (1+15))

=1049.95881

5 31 :

1049.95881" (1+31))- 250" (1+16))

=811.691162

6 30
811.691162" (1+30j)- 250" (1+15j)

=5/70.1572174
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7 31
570.1572174" (1+31j)- 250" (1+16j)
= 325.7770285
8 15 : 3257770285 (1+15]j)=327.7852431
8 15 32779 .
2) {4 » :
15 15 15
o s 1Y
1000.00 | 1518.49 | 1277.23 | 1043.50
15 15 15 15
% % 97 1%
806.37 |566.64 |323.63 |327.75
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8 15 327.715

3) (€4 ’?:
1000(1 + 0_15&) +500(1+ 0.15@)
365 365

- 250(1+0.15>2) - 250(1+0.1522%)
365 365

- 250(1+0.15°2.) - 250(1+0.15-°2)
365 365

- 250(1 + O.lSﬂ)
365
= 324.28
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8 15 324

t,=0 L , O<t<t<..-<t ,
AA ... A 1>0; A >0,k=12,...,
n1 A <L, A ( t )
Kk
(€4 » A1 (€4
» A10
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1) (€4 » .
A =LO (- L)1 8 A O 1+, - 1))

r=k+1

2) {4 » .
AY = LAL+it]- B AL+, - )]
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A - A

=LfQ[L1+(t, - t._,)i]- (L+it,)]

- A ALO [+t - 1)1 (A+i(t, - L)]

> A AIOI+ -t )i]- O [+ - t,)l- it]
(|_>ka__1,ak) k=1 r=1 r=k+1
30
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(?

O+, - t)il- O [+t - t,)il- it,

r=k+1

= O+, -t )KOM+, - £ )i B- ity

A
>QO[1+(t, -t )i]- 1- it

Kk
31+Qi(t -t )-1-it =0
r=1
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